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|diJet delZeta vs. etal (accepted EE) |

Entries

y: delta zeta (rad*10)

Mean x

60

50

40

30

20

10

0

Mean y

0

2 4 6 8 10 12 14
x: iEtal [-1,+2]

376
12.84
32.03

|diJet eta2 vs. etal (accepted_EE)|

Entries

x: iEta2 [-1,+2]

14

12

15N
O

viean X

Endcap
eany

[ee]

0 2 4 6 8

1 1 1 i 1 1 1 i 1
12 14
x: iEtal [-1,+2]

10

diJet delZeta vs. avrPhi (accepted_EE) |

Entries

y: delta zeta (rad*10)

Mean x

Mean y

1O

5 10 15 20 25 30
x: (iphil+iphi2)/2 (12 deg/bin)

32.03

376
14.31

4.5

0.5

376
12.84
13.19

10

Entries

:|Mean

376

17.34

.................................................................................

.................................................................................

................................................................................

PR SR SN T et I s T o TN S S R H S R

20 30 40 50 60
x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted_EB)|
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